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Subject Code : C3 ( EN/AS/BN/BD/HN )

2018
'GENERAL SCIENCE

Full Marks : 80
Pass Marks : 24

Time : 3 hours

Candidates shall note that each question will be
multilingual, viz., in English/Assamese/ Bengali/
Bodo/ Hindi medium, for their ready reference.
In case of any discrepancy or confusion in the
medium/ version, the English version
will be considered as the authentic version.

The figures in the margin indicate full marks for the questions.
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GROUP—A | 3—sl / 3—N / H—argrm / &—9TT

For each question given belo ers are SEVF)Ut of four
only one answer is correct. S ct answer !

o ofeThl o BIRGIE Tew SR | RGR Rogenatiiia TeT | 9%
Wﬁfﬂﬂfi%ﬁ‘iw

Meea ofSf avem SRS 0w Tew CERCRIBRD REE iR oo | BF
Terfd @z s ¢

e HhIa FArty S REHRaT & | Bisie dee Sae e o & |
e ) wmE T g

1 R e e ¥ o SRS 76 2 @

IW F

Fe,O3 +2Al — Al,O3 + 2Fe
The above reaction is an example of a

Fe;03 + 2Al — Al,O3 + 2Fe
@°7 RIFAET <O1 Trreaer

Fe;03 + 2Al — Al,O3 + 2Fe
oraR R @b Trrzad

Fe,03 + 2Al — Al,O3 + 2Fe
et e @m e

Fe;O3 + 2A1 — Aly,Oj3 + 2Fe
SR 4w rfulEn 1 T e ®

(a) combination reaction / a1 FLA = / <f6 LTS
RfFm ) RemEAE ﬁmrrms / TASE 3T

(b) double displacement reaction / 9Bl f&-wopiRe Rftrag / 9=
fa-sermae Riewm / 36m srrarem R [/ R R

(c) decomposition reaction / b1 R Rfrge / % Regres
fRfeeum / =raFm fsnae / R i

d)” displacement reaction / GBI PRy s | «F%  SopR
T / SmremT R ) Reeme s e
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/

mans are coated with tin and not with zinc because
e ST 3 SIS B eEel =, R w2 R
APTRE SCE AR GBS BE A ed W, [Eee-a7 W | FRA

WWWWMWWWWMWW|

TR
mra-wed ¥ Tt w fiw B s 7 1 A" g @, Hifh

(@ zinc is costlier than tin / et i R / BF-a9 (W fEz

o/ fofrgs Rewon 3 iR / R R omen o wém &

(b) zinc has a higher melting point than tin | T s
Brots @R [ Rics-«a oEs B e @/ Forepfr i foen

=ifem [ o7 6 anen i 1 oA AU
(c) / zinc is more reactive than tin / e Hete wfts ey / &

B cars i St / Fpan Rafigs wmifem / R amyen 5 afu=

sfrfFaee 2

(d) zinc is less reactive than tin | Faics orets = Afen / e B
@ ¥ Sin [ fwen Rafrgs @w wwi / R Hi e 5= w0

srfuframeia ?

3. solution turns red litmus blue. Its pH is likely to be
<51 TR qe1 FBvae e FfRcR | TS pH 23 43
93T e =1 BHIrtE e IR | 99 pH S AR
FAR T Hen e fren @ewaEl | #@E pH 7 7 s = g

e frerm are frema i Hfien 3R @ ® | TR pH BEE: F=1 Em?
(@) 1

o

5
(c) '

(; 10
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wch of the following 1s not a correct statement about the

trends when going from left to right across the periods of the
Periodic Table?

WWWmeWw&GWWW
ST TSATR Tk TR P01 0% & 72 ?
W@ﬁwmwmf%cmmmmmﬂmﬁﬁ
*fTadr 2R TorR ceq ea e erER W @ e w9R ?
mﬂm'ﬁﬁﬂmmﬁmwﬁmmmﬁ@wﬂ
s, TR gRERR wem e gy FE?
mm%uﬁﬁﬁﬁa@ﬁzﬁmaﬁmﬁﬁﬂ%aﬁﬂﬁﬂﬂﬁ
FH-T FYH 37EA 7
(a) The elements become less metallic in nature.

(NARR I 4readT (2 4@

Ne@re T 4eIET T T

TRyETRT @a urgenf 3wg T |

7 & uifes wFfd ged 21
(b) The number of valence electrons Increases.

(ATEE BEEAR SR AC |

@AEZ JCAZCAA AN ACT |

SR THFRAPR AR TS|

rirsT] SOEETAl ) WE 9g W 2|
The atoms lose their valence electrons more easily.

HRAPATA Fried @ed TeAg ALF LS FW |
RN BTA TR (TGS A HA4F W TN |
TETETET FE FeEgARE) e T T |
T AT A A FASEA O F A F R
(d) The oxides become more acidic.
THRTRA @R ST (2 A
T T A T N
FFETESHN el Wit S|
TaETEe AU T B 9 B
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\/’ b P
¢ The name of the process with the help of which carbon and

energy requirements of an autotrophic organism are fulfilled, is

R ofR 7/ @51 oo S IR W e ArEATel o T W O

@ AR A @ R Sicdw oA g e el o T |
6

Electc|| e i

Taindt < forg e 3 0 e A S h SRl F T FW ©7

photo’synthesis / SR TR Q@A / R FCRY W / Ly
fafiwa’smma | ym-Eee

(b) transpiration / IEITAGA AT / A aza-/ TEs TEE /
EIEIREEE|

(c) translocation / ENREIT (I / BH@I & [ ST AAaEeAE /
T

(d) photophosphorylation / Reor RARR QA | MerTeeRaee
7 e A | TRRHERIRCHl _ 1

6. The hormone produced by the pancreas that helps in
regulating the blood sugar level is

cmcsﬁhwﬁmasﬁwmwstww’@wﬁ@m’wﬁq
€74

mﬁﬁawﬁmqmwwwmwﬁwﬁswwm
dora TR foel aeeEEE AEEE FEETE B AEEY SR /i
T AR
zﬁuﬁmwaﬁﬁdﬁﬂwﬁwnﬁsﬁq,ﬁwm =Y
Bl R, ?

(@) adrenalin/uﬂ@ﬂ%ﬂ/wm/@%ﬂ/w
yroxin/M/Wmmﬁﬁwmﬁﬁq

insulinqu/wﬂfgﬁ%q/w
(d) testosterone / G | BRER / TRRA [ TR 1
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7,/ The part of the brain responsible for the sensation of hunger

and thirst is
meﬁﬁﬁﬁ?ﬁﬁﬂmﬂﬁﬁﬁ@ﬂfﬁﬁﬁmfﬁ
T 938 P AR WSTeCE R Al AcEd St 2
TET AR TR R orET SRR Yot arEre S

@ T Y Fafrg Fz AiErsH S FH-91 90 87
ﬂrain/ﬁ%ﬂ/ﬂﬁ?/wﬁaﬂ/m
(b)) midbrain / TYNRF / TIEF / TR FoH / qeHfET

() hindbrain / *P5IIBF / PoIeABR / I FeW / TG

(d) hypothalamus / Z°’t3@NR / FXANUENPT / €39 AAHE /
RERIDEEE)

8./ An electric bulb is rated 220 V and 100 W. When it is operated
on 110V, then the power consumed is

9B1 CApfes I/ 220 V SF 100 W 5fFe 341 &iez | @few = 110 V'S
IR I W, (Ofeq TR FIel 2]

@3B tapfes a/™ 220 V @3k 100 W fbfFe =1 wiew 1 797 ¢1f5 110 v @
JATR I W, O 99 FA| A

TR AfRrEenR aeEerd 220V IR 100 W RAm 2| e 3@
110 V 37 STemamE s/, S WEe S

forelt forggq =t =1 argAaT® 220 V A1 100 W | 5@ 8@ 110 V W w=iferg
T, 7 T T I G A

(@ 75W
ﬁ w
(c) 100 W

(d) SOW 3

B18-GS/20B [ Contd.



{7

\9/‘(& of the following is not derived from energy of the sun? 1

o @1 G wnyifs w=1 2

frare @ri ceifs snufes w9

TreTaf v W SRR feEa S
Frafafad & @ F9-H 9n 9 ¥ sgew =8 27

(@) Biomass / (&® M / (&1 Tofme / @ wRmET / StEHm

Nuclear energy / R@m *fe / Fedm e / T=mmm ke /
TR Sl

(c) Geothermal energy / gofiR *f& / gorin =fE / yu g wfw /
ATdR S

(d) Wind energy / 3R *f& / IR =& / ar wfh / v S

10, hich of the following groups contains only biodegradable
items?

TS TEd A (@RS @9 T Pfiwse o =g 2
fare @mitce @@ &7 iR oy s ?
e 7@ A qeEEe SaeR dem ga 87
Frrferfas wEl # & forad Fam @ el gand 2

(@) Cake, wood and grass / @1, 1 =% €1z / Po1, 3% =g 79 /
e, <H | / ek, H1S 3R I

. (by” Fruit peels, cake and lime juice / TeeR IR, P W= Ge

o / e WPT, PR @R IR D/ emi o, fean amy
a2 / vl % foos, &% M Em ™

(c) Grass, wood and plastic / IR, J% =& «f¥s / W1, I3 @33
of8ss / T, S 3R T / 9, FS AN et

(d) Grass, flower and leather / Y13, T ® 5@l / 9B, T aR
SIEYl / e, e A wnen / aw, B iR amey
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ROUP—B | ¥—sil / 4—x| | @—aem / T—Hm
11,/What is the common name of the compound CaOCly? 1

A5l CaOCly3 SR ! % 2

Q% CaOCly @ e = F 2

CaOCl, TR @mume et =17

CaOCl, A = TRV TH F1 87

12. Why is the conversion of ethanol to ethanoic acid an oxidation

reaction? 1
S 2R afbete Feea FAh! R bt wee R 2
YRS AR SRS FoMe 1 @b e R @1 2
3R 39 T wRrefm demrn TR fFse TRAsE?
AT | UATRE 3T § uitadd i i afufmn w@ wEd 77
13. What is cross-pollination?
TSR f§ 2
TSR 2
A gTEA1 AT W
T 4 B 7

14. In which type of reproduction, exchange of genetical material
takes place?

% oo o omda R €6 2
mw%ﬁnwﬂaﬁﬁm@?'

1 AT e gt e e
g oA 1 S genel @ faf g R?
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15. Define the unit of current.
2AMZT 9P 3T o |

AR 9ICIF 3R 118 |

wifscra arentt wrfef gwndy &)
Toregd- a0 3 e A ity fafaw)

16. Translate the following statements into chemical equations and
then balance them :

O TETR I SARReorS e S g 4

sa Seare el SR @ 93 TEew I

TR e TErEETR TS o o e Ty |
= =t =1 Tamafe w9 § sfaff w R wgfe S

1+1=2

(a) Hydrogen gas combines with nitrogen to form ammonia.
G TEA (91CR, ARG TR S 79 02 9" 2/ 3q |
RCYCEA P ARECHCR S FYE 20 WA 27 ¢ |
BI5g SH TH RS AN T T i)
TTeSIor T, R A T o S e 2

(b)

Hydrogen sulphide gas burns in air to give water and
sulphur dioxide.

LY WEATRE IS WS 2 AN AR R SREHET Teom
IR

FRCYIEH SRS ICS %6 T W GR AR TREHET Teor
|
Y S WAHTEEA AR WA 2 SR TR S3erTss A |

mmmwmﬁmﬁmwﬁwmmm
I B R
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"What does one mean by exothermic and endothermic

reactions? Give examples.

P8 T o) R 3o g 7 e

wrRE! @ S R s R Q@ ? R e |

P S ————— L e
Feadt T e s 1 o §7 e A

| Or / 7&<1 / wea) / Tar / Saat
(@ Why do we apply paint on iron articles?
(TR TS 383 2@l fé ¥ 0
(TR IECS WAl 78T A (@ 2
A FETeanE TE AR BT ST A
e Y agall F e T R = 87

(b) Oil and fat containing food items are flushed with
nitrogen. Why?

(o F S AP AT TR TER RIS (e S =W, 592
(o5 @3 SRYE A ARGICEAA AR LD (T S = 2

gmmmmwwmmmw
?

¥ TE O @ -gardt F A |yl w4 R s 27

18. What is the chemical name of baking soda? How is i
produced? Give chemical equation. pEs

@R F'uR IR TN B2 W @A 0w 9
o T A2 IPTAE FqE

&fre oo AP T F2 ot e eme %
i 3 N W2 MRT ANwq9

8-GS/20B
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af v'el TR get w7 ad AER aEEEE @ e aEeEe)
feri

At e w1 TS T e ¥ 3 3w (Bmin) ¥ e s 27
Tamate gt fafag)

19. Mention the factors that could lead to the rise of a new species.
T oS QbR TeeifeR A 6 6 orme wfvzen cnsm, Seaw = |
5 T oefen Teofer oy & R oM s sy, TEy 7 |
A1 ATHTHERT HAR MM T Sniser! g@ 7@’ |
7w I 2 FH-FR A I9RE T 8, g Hifvw

2

hy is a normal eye not able to see clearly the objects placed
closer than 25 cm?

SR 5FCR B! 25 cm SLF S5IS I I8 (1 AW w2

@ RS (BT *CF 25 cm (AT IR A T2 =B (731 5197 =7 7
@2

T W AEEd 25 cm gz @niame wnfer Saed 1 A wEe
E A3 25 cm ¥ Frere @ awget # gem = 1€ @ gt

21. Light enters from air to glass having refractive index 1-5.

What is the speed of light in the glass? (Speed of light in
vacuum is 3><108ms”1)

(=3 IR °[1 1-5 Af SR I TINF A0 IR0 | F5% (27 T
ReIm 237 (S (1T TS 3 x10% ms™!)

I (NI ACEARF 1°5 ARSI IO T 20 IR | I DA
e T 237 (P CEER TS 3 x108 ms™1)

aft Yo sEfwE 15 v st el it wmiet e
| g S@ei? (e’ s wat TefE 3 x 108 mstl)
TEE T W 15 uEdAs i HE i e F W6 W 2| wig ¥ wwmwm f
=t et 27 (Frafa & w6 w61 3 x108 ms™1 &)
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\}Atc the basic

principle of an electric motor. What is the
function of a split ring in an electric motor? 1+1=2

IO 5w o R e 71 1 Lo S5 o e T B 0
mewwﬂm.mmwmm-mwa?
ﬁ%ﬁwﬁﬁﬁ@m’aﬁﬁawﬁﬂzﬁﬁ@mﬁmm?
ﬁ@ﬁawmaﬁmw%?ﬁmﬁaﬁmWﬁmz@wé?

23. Write two Precautions taken to avoid the overloading of
domestic electric circuits

T e T et e o < e CETIRI 951 SRarTe! foy<y |

N Ao a6 wrorfie (T AT T ~N1SA &= 2123 7 T
CTCT |

ate] ferepq it & aﬁwmﬁw%%qawﬁzﬁ%ﬁm]

Mogcn (atomic number 7) and phosphorus (atomic number

15) belong to group 15 of the Periodic Table. Write the
electronic configuration of these two elements. Which one of
these will be more electronegative? Why?

3
TRE'TE (IRNREE Sem 7) W TRg'AR (T ey 15) *pfys
Wﬁwaﬂlsswm“icﬁﬂiﬁﬁmﬁﬂmﬁww

Sananlic iy
e o 2'7 = ¥y 2

ARG (ML S 7) R P (oAt R 15) *nfigs
iR 39 15 (o WI@@HWWWWWQWW
@ e 4 2R @R @2

M (EEER SR 7) TR BEETE (TTramh R 15)
ArARR e e 15W31amﬂﬁﬁﬁmﬁw%|
SRR T @i e T SR Ry

T ) A grof &
e 15%m%|ﬁ€ﬁaﬁfim3ﬁ?ﬁﬁ$ﬁwmﬁﬁamsﬁﬁaﬂq-mm
arfera sroTfergg B 3fw 9y?
B18-GS/20B



(13 )

Or / 7% / 9131 / var / srerar

(a) esides gallium, which other elements have since been
discovered those were left by Mendeleev in his Periodic
Table? (Any two) 1
CiffR Toifke 9 @M (TR I3 GRS SRER @ER
TR slecs (969 wiferre o1 AR 23 e 2 (R e o)

IR QeIs o= @ (SR &0 (REeE SWRER 2699 S
(esfers S wiferercs TW @ed faReEm 2 (@ @ 1)

ToEmA s TR g REERE FEAE TRER SEeE
qugferian mafy srei o wiga MR ? (STaRa-smn W)

fcrem & Ifdfes s/ a% FH-F9 ¥ @ F g@ gen ¢, R R
HUSEHE ¥ AT 3rrad wroft § @reh Tum sie R an? 2 sew Afva

(b) Use-Mendeleev’s Periodic Table to predict the formulae for
\ﬂ:: of the following elements : 1

K and Al
eferes “fige SR I=E IR ToTe (MR THRee
HFo e 41

K =¥ Al
(eefere Age oFRl I/ER 3@ Fare QasEr wmRes
ALFS A B -

K 933 Al
Aoefefy SR o TR TR TEEE M Ry
sraTEe weE! g -

K 3m Al

h@?ﬁmﬁmmwﬁmmaﬂﬁﬁ%f@aaﬁﬁ%aﬁaﬁ@%@
1 IFFHH T :
K a9t Al
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(c) ~Why do you think the noble gases arc placed in a separate
__ :

s group?
T (TR <1 [ 3sfe R 7 i (2R ?
T3 WPETECE I 4% 0ol (T (S AR
e e HR ST EE AR AT S
mmmﬁaﬁwwﬁaﬁwwé?

25. How does nerve impulse travel in our body?
AR (72 FY (AR AR 2RIES =2
SN (702 1Y (2R o 2RfEe =2
Sify e frdm AeeifE TR 3 S
@ﬁmﬁﬁﬁw—mﬁﬂmﬁaﬁﬁamﬁmé?

Or / 7131 / 91 / T&T / a1

What is an endocrine gland? What is the difference between
an endocrine and an exocrine gland? Name the gland that

performs both endocrine as well as exocrine functions. 1+1+1=3

weE@ e feo B WEIA e @b ReI@A afe Ao ol o
e T R DT IR A 1 AfRTB AR fors o

T R B2 @ TEIA @R @3 WReTR Afeq W N Fo
e e AR 76 IR T T Ao TR ceAe

<RreTh fasin m? A TR A WA AR freafy Ay wwrem e
<RreR s AreR A @ty Aag Rt g fow

7 |r iy w0 R? a-arE aun afe-aE afvE § = ot ®7 9| au
fe gt 2 ] A FuTER w0 el 4 A fafa
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26. What is the process of reproduction in amoeba? What are the
advantages of sexual reproduction over asexual reproduction?

1+2=3
dR cFae & AR R AT SRS 2 WA 259 AfFetd (O
ﬁWﬁﬁFﬂﬁﬂﬁWﬁiﬁ‘?

anﬁammﬁﬁﬁsnmwwmqm@?wﬂwaﬁch
QR o= aferr JRasEn § § o

REEUEEE S CICHE Bl E I IS S Do RS E RS It S S —
wrffge oA AT @R T T e

fia Ay form fafy g @ 27 1@ s ) sRen S s 3w
Y 87

27. What is a dominant character? How did Mendel prove through

his experiments that the inherited characters are transmitted
independently from one generation to the next?
el 5@ 52 @b T o1 TR )
TOIOR RS = I (e ol

1+2=3
S IR S=IT F4 SRPTYE
R AR FCR 2w FRfde 2
ool sha R0 GG T (WF OH D TS IR W2

PRPTR FoFoNd RS W W& (Wes SR AR a[ To o
JCAMRCEA 2

T S 7 A TawE A T SeRm SEe s S e
SRR € Aogmen il sreeE TER Prom e

Wﬁa&mw%?ﬁga%wﬁﬁﬁmwﬁsﬁﬁmammmﬁ
FIFTE B &7

Or / W13 / 91 / €&t / Syerar

Define homologous organs and analogous organs. Can the
wings of a bird and that of a bat be considered as homologous
organs? Justify your answer.

TR 9 WF AU WReR Sigw i | vakg

R e AR iR srice
BRI 17 IR AR 2 (oM TeCH TR 74 |
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0 g 14D
TPIE S @@ TR §OHR ] e | AR o R e N
ST SHA 1) FACS AR 2 (oW TeRfb B AT |

mmmmwﬁmaamﬁﬁaﬁwmmmm%ﬁ
i TE 3 AT A g A R e

Hmamwwﬂﬁm%mlwmq&ﬁaﬂtw%d@ﬁ
GHSTA 377 F1 S ol &7 3797 I ) 1T HIrg |

28 The far point of a myopic person is 80 cm in front of the eye.
What is the nature and power of the lens required to correct the

problem? Why do we have two eyes for vision and not just one?
2+1=3

-7t TR @ [ R 53 TYA® 80 cm WS | R FRRI
S AR AWEH @R PR agfe & o wer [vm 2 7i3e I
AR B #fRACS 51 5P AT 67 2

GFEq AR Ifeq @ RAE EE OUR TR 80 cm. @¥ RIRw
SFCNGCT ) ACTAGAR (IR 2PfS P G Tl T, ey 3¢a1 1 437 &y

SR GRS qf6 (BT 2ATE (4 ?

Ty 39 FAR GRA ueEE TeE - AR AR fmem 80 om
TRYTEAE | A SAE GEA ATEE T A STEER AR Meen 33w
JATEF aTEr S 9TER W A oI5 T T T

forelt Fishegfe A @ fifkd =it 1 -Fog 7 & ¥ 80 cm 21 3w o =y
Wﬁ%ﬁwﬁﬁuﬁawwmm?@#mm
3 T3 71 8, Fad G & 7l AGI ¢

Or / &3 / 9% / 0aT / srera

What are the defects of vision? A person needs gz lens of pow

-5-5 dioptres for correcting his distant vision. For correctin }-fr
near vision, he needs a lens of power +1-5 dioptres. What isg hlS
focal length of the lens required for correcting distant vision;at ¢

1a+1%=3

18-GS/20B -
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R R 2 qom e ) el sweneR IR (@69 -5-5 TRDR
T ORI SR | (969 feh FRageR e A e (i

T +1-5 TR T T GRIGOR FNR A TRTE (@GR
T 7 e 2

7R Rem § F2 «Fow TR W RGO HCMCT T -5-5 TRDT
TR GIOR WRF | ©F A3 qRamer R & SeidR I

T +1°5 TR LA [ [RIVOR KOG &0 ARG 0o (P
ol ¥ 732

PR MR @ W? 'R e TR iR e & e e
55 TRIRR el IHE TR 7= A | il @l qumd o @ araw
TH FHE A= MR +1-5 SRARR TR MM JAEE FerAt T7E
A T LT Sqai?

3 & F-wn AW 27 fRf =R A owh @ A g F wnifte w3 ¥ R
-5'5 D &HAl F T8 H AEwEHal 2| A Frere fi g w1 aiita w0 F
fom 3® +1:5D gwar & W 6 AEwEwa 1 N g wfE @ F e
ATEF I F w7 e

\y%@mlc’s law of heating. When a 12 V battery is connected
across an unknown resistor, there is a current of 2:5 mA in the

circuit. Find the value of the resistance of the resistor. 1+2=3

oA e gER STac! o | e @b wme @ 12 VI @bl @GR
F9© A F91 T, O 25 mA 2R BIfeT® W | QRITR @1y e |

om R g@-93 b @l W @I Tme @i 12 V-gz 7l
THRAR CF AT 791 W AT 2:5 mA 2R BT = | @lda @y @@
A |

fag Mem ot @f¥a fo) ssen @78 AR st 12 v i gea
S BRI S 4T 2:5 mA e TR M@ | Fommy 2o g

@ ® A Frem w2 e s wioes F R} 12 v f e
waIfE A W ey § 2:5 mA faeg-um weiiRa 96 2| widus = vy
31a i |
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Or / 331 / 531 / &t / Har
Whatis the commercial unit of electrical energy?

i ich uses more energy—a 250 W TV set in 1 hour or a
1200 W electric iron in 10 minutes and how? 1+2=3
Apfes «fex R g &2

RO AR =% ez sfRe—abl 250 W3 TV (56 1 961 sfercar 31 <o
1200 W 3 C3gfes 3 10 faf¥s sfera s @eatss 2

Apfes «feq e avs F2
@@= AR «fe TR Fa—aB 250 W @d TV G5 1 961 e
@36 1200 W-97 ez 2R 10 R wicat «ar Frerea 2

Aifscra it wrenifa® amfean @r?
e FifeA s SREIR—™ 250 W 1 TV @2 1 g=1 afedisen & 1)
1200 W f mifees 3R 10 fifie ifegieen amy w=Er?

Toregq wifer =1 =TT W @ RY
et i faepq wifts =1 =@em B :— 250 W 1 o dfte ¥ & T W2

T IAET S & JAGT 1200 W 1 Fggq 3@ 1 10 fime & forg <reman
T ® qAT HFH?

30. Why are we looking at alternative sources of energy? Name a

non-conventional source of energy and its two advantages.
1+2=3

i *fer Rea T R a2 9B IR e ToR am B s
T 451 SRR Ry Teay w4

w1 e e Besi @ viR? awwwwmwmqmwm
@3 99 gt R R Teay w0 )

S wRef Sem $E Eil e Sa efeee wfel et g fw emy
A A @R am |

&H o1 ¥ Aofcus Al B AR W e 2 R 7SSl F TH RPN Eld
] FTH w18 a9 FHh A ITA At w1 Ig@ Al
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\S%Uhat is the role of decomposers in the ecosystem? Draw_a
diagram showing flow of energy in an ecosystem. @"2=3
“RiEfoege R ghw R 2 @b Ridfoogs fe = foq =i |
oo Ramee s N b Rikfeem =fer “Reea B

T |
ey et REm femr w7 A9 e fraf@em wiEd
aeTa grEmR anfa|

TRTA A S w1 e 27 T aied § s % e W o R
SR

32. (a) What happens when ethanol is heated with alkaline
KMnOy4 or acidified KoCr,O;? Write the chemical equation
for the reaction. 2

W“é’l‘ﬂ KMI]O4 W‘Sﬂfﬁﬁ? KQCI'QO'?q m&w W@I W
& b 2 RiFadr el avmie sQiwad B |

WA KMnO, W1 W K 5 CryO- - 7% BImeas ey A
fe w6 2 RfFnfa sl i s @ |

e KMnO,, TeTeel TRigani K2Cry07 St 39mere Seeean m
ST ? Reenemgaa A S TR FEaEE fow

& KMnO4 3190a1 3154 K )Cry0, ¥ W19 Wit o ™ =3 QA
H1 e /7 A F v T wie fifae

(b) Explain substitution reaction with one eéxample. 2

B TR Tee eifgiem e i < |

b Trzaerr efegrem R o s |

Aa faffes e e )

T SR 1 FErH A e e w1 b iy
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(c) Write the names of the following compounds :
TR (TR ACA e
e (Qe1gTER TRST G
e dfirent & T fafa -
H
(i) CHy—CHo—Br (i) H—-(IZ=O

Or / M3 / 9% / &t / daar

(@@ What are the products formed when ethanoic acid reacts
with sodium carbonate? Write the chemical equation for
the reaction. 2

R FRED oie Wi «fice R IR R B Ridrmere
o1 Teom 2N 2 RIGWOR ITRES e A |

oTfeam FREGT S e b R[Kign sae fo o Rigwere
om1ef Teorm = 2 Rt armfae seae @ |

afeam Freres 3o s tfrsen e Swee 71 71 gan amie?
Regenamef TR gEmaE forl

it s, W AR 3 T SR T AR A e
#? arfufrn ¥ oo Temate adfe fafaw)
(b) f;;?:::l:ﬁ th:: mech;rf;;m ;m:; ::::lcleanmg action of soaps. 2
SRR e #AfAER 99 f e mm s |
FEFTH GEEE @EIE) sEd |
argA 1 wHrE Wi Y Srnfafy anemy
(c) Draw the structure of butanone.
AT’ 1A foq = | 1
RTEMER 910 o7 w3 |
forge'3f 21w wramRt enfla
AT 1 T fafa fift
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33. (a) What would you observe wh déedtoa éOln
of iron(Il) sulphate? Write thlmical reaction that s
place. 2

SRR RICTS T i 4 il R SabSleain T
RfeFamchr foran |

STRA(IL) TRt T e arp Hedilll (i SRae 2e Ik
R e

(L) Wk TR R SR e

TR fersara) for)

AA(I) T F foema & R #) Ten ¥ = o 27 S i
i g€, 38 frfau)

(b) Give reasons : ' 1+1+1=3
PR 7O
IR A8
STEH §
FRO TATY -
(i) Platinum, gold and silver are used to make Jewellery.
TR (SR I CofbTm, o' o1 Rerer e w41 2 |

TAFR AR R Fee A, CTAl () @3 Fofr
(o) <R 1 = |

WWW,H’WWMWWI
S 3 3 fore e, W S o i fe s 4
(ii) Sodium, potassium and lithium are stored under oil.
RS, WGIRAT WRE FBifR 41g oo B 4wy |
CTIEA, HRRT e R g covet BRe 2 =
s, wetram T fafame) arm e e
wifem, Wi  fefm 1 3w ¥ siew vt v 3
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- .+ is used to
(iti) Aluminium is a highly reactive metal. Yet it

make utensils for cooking. <& T
Qe TCLB ST w@mﬁiﬂwmww %
Ffeace IR I A |

T
mﬁﬁmmmmﬁr«ﬁﬂ@‘twawﬁalﬂmm
sieil

e st e oy &, e o g I @
At =i s % g frn s R

Or / 7%t / ©%{1 / Tar / HAdan

(@) What is refining of metals? Mention the most widely used
method for refining of impure metals. What is anode mud? 3

mmaﬁaﬁsqm?wﬁqvwmwww\a BISEE
@RI &R0 TEY T4 | G’ @ IR (@A 2

A1gA O IS 6 @2 TSy 4 O IR T 2pd PHfREe
AT 2] &Te6 SCEY FCA | AT IM FICF e 2

e de getE W ghE? TS uigee Sty
AEETEN AEE 7@ | TS T A ge?

urgati 1 afteRr #4127 uTgel ¥ IUEH W TR F
- R W S i

(b) Explain, why :
e, 10
&, AR AT
A, 94
i Hifore, 4 -
i) Silver articles b
L exposed to :jr. SCOIIC Bigsk after some time when

fReToR wefie o[ “f@ 1 2 IO e
02 o | 31\91%%2’“@?&’@25’31

1+1=2
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() Copper reacts with moist carbon dioxide in the air and

slowly loses its shiny brown surface and gains a green
coat.

PR TSRS [ G I SRR w91 R I8 7579
O TR TN 3R I 2 (S TR T8 22 7R |

Wmmﬁqwmwwwmmmﬁﬁm
R T R Tege e 3o a1 Wi 38 2 W CTE T
T 39 W I |

FARAT SRE I @ FE ereEaEest Tasna sFmf
a@#ﬁﬁﬁﬁ@awwmma‘ﬁmsﬁﬁmmh

ﬁmmﬁw@aaﬁﬁﬁqmm@%m%w%,
ﬁaﬁmﬁmﬁtﬁmaﬁmtﬁi-tﬂiwam%ammm
VO H Ta =g TR R

34, Name the parts of the excretory system in humans. Describe
the mechanism of urine formation and elimination. 2+2+1=5

mmwwmwﬁw®mwwwwﬁﬂwﬁmfmq

mmmwﬁmmmn@mwaaamaﬁ@mﬁm
¢ |
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Or/?{TQ?N/WW'/';"'"/mﬁ"r

What are the components of the transport system in highly
organized plants? How are water and minerals transported in
plants? What is the role of transpiration in transporting water
and minerals in plants? 1+2+2=5

mmmﬂﬁwwmﬁqﬁﬁsﬁs?mmﬂﬁwﬁﬁmq
WW#@?Wmﬂwwﬁwmqwﬁww
afers g &2

mmw@www@@?mmwmwmﬁ
&amﬁﬁ@ﬂ?w@mwa«wﬁwmqw@wwm

afer g 12

Wmmmﬁrﬁmﬁaﬁﬁmmm?mmﬁ%m
mmmm?mam@ﬁmﬁmma
% WY FraE e @

et Tt 3 GEE 9 % FH-PH A I B4 77 e § 9o T @
G YER TRERd B & Ted # 9o @ @A q@ei % aReed §
Tt Y @ e A 87

" Draw the ray diagram of image formation by a co ;
when the object is placed at its centre of curvat nvex mirror
An object 5 cm in length is placed at a distan ure (C).
fron.t.of a convex mirror of radius of curvature 3‘36 of 20 cm in
position of the image, its nature and size 0 cm. Find the
2+3=5
Taa WA A0 1 afeRTa T SR e e
YA kil 3
A " TR s (C)
30 cm 18 IPNYY Tes| weHle Q4T TS 20 ¢
m

ﬂ?ﬂ@ﬁlmmﬁ,mmww WSCmmw

Fefe 201
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STESFCH (C) 191 27 |

30 cm ST& JPYT @I Twe WRAR Y 20 cm FE 5 cm OCHR
b T AN TR | RIS, @9 2ghs @k S e A |

TH A BERET weahy da gEmR e Steer AR e AT
@ fiars (C) enfiaarg s

30 cm W@l §'EEf wE @ @Ry fReme@ 20 cm SHYREAE 5 cm
R YER W AR w6 gEEh aEty, A g A HEE
g1

et 3w wdw g = wiefim @ fo o fafie fifte, = 95 <o %
THAT-H3 (C) W Bra 8

Scm @aE Hi #X¥ % 30 cm FEA-Gew % Rl 9@ edw F wmE

20 cm g W @ T R wfefam i fufa, o qon @ e @
$ifsm)

Or / 7129 / 92/<1 / AT / 33ar

“The refractive index of diamond is 2:42.” What is the meaning
of this statement?

A convex lens forms a real and inverted image of a needle at a
distance of SO cm from it. Where is the needle placed in front of
the convex lens if the image is equal to the size of

the object?
Also, find the power of the lens.
Find the power of a concave lens of focal length 2 m. 1+3+1=5
‘R AT 2-42.” @ SREBR w2

Tee (@) 9 @& GBR e WF erEn)
WWI@&%WWWWW@, (O STRREH] e
TR TS 'S 391 (R ? SR T o) fefyy oy |

2 m IR O A (S Q¥ WAl ey v |

‘IR 2T 242, @ TR wel R o
aﬁ%maﬁﬁwmmamaﬁgﬁqmm
50 cm 7ACY | T 2ifReen wew TERE S

AR OR /1 50 em EgS

OR (AT
T8 GO T IV A1 e 2 PR el Refy 2wy | P
2 m (TR OO «3fb SRes o ieeR e ey e |
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oy R fmmr 2:42""1 S sonfy afifern @7 _
Y g S 50 cm W@ TR AR AW o ¥R e ded
%ﬁlgﬁum@mﬂﬁgaﬁmwmmm?@w
Sy RrmreT WA SRET SR ? S St Mear fE |

2 m EFH TR T o Tl merE fag |

“OR w1 SR 2+42 21 T FAA 41 A 87

¥ 3o o Frelt g§ &1 Aty o Sear wiafaa 3@ oF @ 50 cm F S
%lwgéméa%mmr@%,uﬁwwﬁﬁﬁwmmﬂw
2 g wR i g 27 o A e oft I HR

2 m BEE g T Rt rEde o e F1a |

36. What forces would be working against an equitable distribution
of our resources? Suggest some approaches towards the
conservation of forests. 2+3=5

wmﬁwvfﬂmmﬁm«ﬁmﬁwﬁmmaﬁwm? LRIk
FEH FooE oS TSI |

SR AR FeeareTd THReR Reew @ [ 18 IACR? INEA
S TR TOM© 718 |

ﬁﬁﬁfwmmzqﬁtﬁw%mmﬁ%@nﬁmﬁm@mﬁmm
37 g BT I g A g

ﬁumﬁ%wﬁmw%ﬁﬁm-mmmﬁwm%?a:ﬁ%
e % forg Fo 3o gaet

Or / 71%1 / 921 / T&r / Sear
What is the importance of reduce, recycle and reuse to save the
environment? What changes can you make in your habits to

become more environment-friendly? 3+42=5

oA TFR (RIS ZPRA, THDAI WE FTRR ¥ ¥, farey |
wﬁtﬁ&%mﬁsﬁsm%ﬁwm?
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e THFR CFea
’ - FPRIRC, FEEFAT G IR
e R zeam & mmﬁsﬁsmm?ﬁaﬁwz@@::?ﬁ;, i

QWWW,WWWW
el @ e Y o g A g

e H FEE % o
_ Wm,gzwmg:mmwmﬁ?
q“iafufﬁﬁﬁ%mmmmﬁaﬁq—%qﬁaﬁqwﬁ%?

* %k

B18-GS/20B


http://www.tcpdf.org

